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AP® European History 2021 Scoring Guidelines

Question 1: Document-Based Question, British Imperialism in India 7 points

General Scoring Notes

e Except where otherwise noted, each point of these rubrics is earned independently; for example, a student could earn a point for evidence
without earning a point for thesis/claim.

e Accuracy: The components of these rubrics require that students demonstrate historically defensible content knowledge. Given the timed nature
of the exam, essays may contain errors that do not detract from their overall quality, as long as the historical content used to advance the
argument is accurate.

e Clarity: Exam essays should be considered first drafts and thus may contain grammatical errors. Those errors will not be counted against a student
unless they obscure the successful demonstration of the content knowledge, skills, and practices described below.

Evaluate whether or not British imperial rule in India during the 1800s was primarily influenced by liberalism.
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Reporting Scoring Criteria
Category
Row A 0 points 1 point
Thesis/Claim Does not meet the criteria for one point. Responds to the prompt with a historically defensible thesis/claim that establishes a line of
reasoning.
(0-1 points)

Decision Rules and Scoring Notes

Responses that do not earn this point:
e Are not historically defensible.

e Only restate or rephrase the prompt.
e Do not respond to the prompt.

e Do not establish a line of reasoning.
e Are overgeneralized.

Examples that do not earn this point:

Provide a historically defensible claim, but do not establish a line

of reasoning

e  “There were many factors aside from liberalism that influenced
British rule in India.”

Establish a line of reasoning, but do not provide a historically

defensible claim

e “While some say that the British rule in the 1800s was
influenced by liberalism, | would say it is primarily influenced by
conservativism since the upper class of Britain came into India
and overthrew it.”

Responses that earn this point:

e The response must provide a historically defensible thesis or claim that establishes a
position on whether or not British imperial rule in India during the 1800s was primarily
influenced by liberalism. The thesis or claim must either provide some indication of the
reason for making that claim OR establish categories of the argument.

Examples that earn this point:

Establish a line of reasoning that evaluates the topic of the prompt

e “British imperial rule was not primarily influenced by liberalism, instead it was primarily
influenced by Social Darwinism. Social Darwinism was an excuse for English higher-ups to
profit off their colonies work.”

e “Liberalism influenced British rule in India to a minimal extent as is shown by their
political policies and by their general treatment of the population of India.”

Establish a line of reasoning that evaluates the topic of the prompt with analytic categories

e  “Although liberalism was a factor in the colonization of India, the overall biggest factor
was nationalism and self-benefit due to the resources to be gained, the treatment of the
natives, and the glorification of England and its citizens.”

e “Although British officials in India were influenced by liberal ideas, the desire to make the
empire profitable for Britain was at least as important in shaping British rule in India.”

Establish a line of reasoning

e “British rule in India was most strongly influenced by liberalism because the British tried
to establish a legal system similar to their own in India.” (Minimally acceptable
thesis/claim)

e “British rule in India was not liberal because the British subjected the Indians to racial
discrimination.” (Minimally acceptable thesis/claim)

Additional Notes:

e The thesis or claim must consist of one or more sentences located in one place, either in the introduction or the conclusion (which may not be limited to the

first or last paragraphs).

e The thesis or claim must identify a relevant development(s) in the period, although it is not required to encompass the entire period.
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Reportin . L
P g Scoring Criteria
Category
Row B 0 points 1 point

Contextualization

(0-1 points)

Does not meet the criteria for one point.

Describes a broader historical context relevant to the prompt.

Dec

ision Rules and Scoring Notes

Responses that do not earn this point:
e Provide an overgeneralized statement about the time
period referenced in the prompt.

e Provide context that is not relevant to the prompt.

e Provide a passing phase or reference.

Examples that do not earn this point:

Do not provide context relevant to the topic of the prompt

e References to “God, Gold, and Glory” that don’t connect to
Imperialism in India. “God, Gold, and Glory were motives for
exploration with the sugar islands being a significant part of
triangular trade.”

Provide an overgeneralized statement about the time period

referenced in the prompt

e “During the Liberalist movement many people were thinking
ahead to the future of their respective countries.”

e “Women were gaining more rights and the class lines were
beginning to blur.”

e “During the time of the Liberalist movement, England
colonized India.”

Provide a passing phrase or reference

e “Liberalism was important in European politics in the
1800s.”

e “The revolution is near after the spread of the ideals of John
Locke and other members of the Glorious Revolution of
1688.”

Responses that earn this point:
e Accurately describe a context relevant to whether or not British imperial rule in India
during the 1800s was primarily influenced by liberalism.

Examples of relevant context that earn this point include the following, if appropriate
elaboration is provided:

e Industrialization in Britain

e Geopolitical rivalries among European imperial powers

e Liberal political reforms in Britain

e Llaissez-faire and free-trade economic policies

e Social Darwinism and other racialist beliefs

e Columbian exchange if connected to British imperialism

Examples of acceptable contextualization:

e “In the early 19®" century, New Imperialism played a large role in nation’s economies and
governments as countries raced to Africa and Asia in order to colonize land for industrial
and social purposes. Among these countries, Britain colonized India in order to control
trade and production in the area.”

e “At the same time that many Europeans were starting to believe in political and legal
equality for all citizens, many also began to see non-Europeans as inferior races that
needed to be ruled.”

Additional Notes:

e The response must relate the topic of the prompt to broader historical events, developments, or processes that occur before, during, or continue after the

time frame of the question.
e To earn this point, the context provided must be more than a

phrase or reference.
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Reportin . S
P J Scoring Criteria
Category
Row C Evidence from the Documents
Evidence - - -
0 points 1 point 2 points
(0-3 points) Does not meet the Uses the content of at least three documents to address the Supports an argument in response to the prompt using at least six

criteria for one point.

topic of the prompt.

documents.

Decision Rules and Scoring Notes

Responses that do not
earn points:

Use evidence from

less than three of the

documents.

Misinterpret the
content of the
document.

Quote, without an
accompanying
description, the
content of the
documents.

Address documents
collectively rather
than considering
separately the
content of each
document.

Responses that earn 1 point:

e Accurately describe—rather than simply quote—the
content from at least three of the documents to address
the topic of the influence of liberalism on British rule in

India during the 1800s.

Examples of describing the content of a document:

Describe evidence from the documents relevant to the topic

but do not use that evidence to support an argument

e (Document 2) “Cobbett paints an unfavorable picture of
British rule in India, emphasizing its violence and greed.”

e (Document 6) “The illustration shows an Indian prince
acting submissively towards the representative of the
British rule and the picture of the empress.”

Responses that earn 2 points:
e Support an argument in response to the prompt by accurately
using the content of at least six documents.

Examples of supporting an argument using the content of a

document:

e (Document 5): “Queen Victoria’s grant of religious freedom to her
Indian subjects is an expression of a major belief of European
liberals.” (Connects the contents of Document 5 to an argument)

e (Document 4): “Ghose’s complaint about how British courts
actually work in India shows a tension between the liberal theory
of British rule and the oppressive reality for Indians.” (Describes
and connects the content of the Document 4 to an argument)

Additional Notes:
To earn two points, the six documents do not have to be used in support of a single argument—they can be used across sub-arguments or to address

counterarguments.
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Row C
(continued)

Evidence beyond the Documents:

0 points
Does not meet the criteria for one point.

1 point
Uses at least one additional piece of the specific historical evidence (beyond that found in the
documents) relevant to an argument about the prompt.

Decision Rules and Scoring Notes

Responses that do not earn this point:

e Provide evidence that is not relevant to an argument
about the prompt.

e Provide evidence that is outside the time period or
region specified in the prompt.

e Repeat information that is specified in the prompt or
in any of the documents.

e Provide a passing phase or reference.

Responses that earn this point:
e Must use at least one specific piece of historical evidence relevant to an argument about British rule
in India or liberalism.

Examples of evidence beyond the documents relevant to an argument about the prompt:

e “When the British government dissolved the East India Company and ended its trade monopoly, they
were acting in accordance with liberal ideas about the value of free trade.” (Provides a piece of
evidence not in the documents relevant to an argument about the prompt)

e “In the early 1800s, Britain placed high tariffs on Indian cloth exports, a move that protected their
own industry but went against liberal ideas of free trade.” (Provides a piece of evidence not in the
documents relevant to an argument about the prompt)

e “Social Darwinism was one of the beliefs that caused the English to believe their superiority over the
Indians. This doctrine said that white Anglo-Saxons were superior to other races, clearly
contradicting some liberals’ belief in racial equality.” (Provides a piece of evidence not in the
documents relevant to an argument about the prompt)

Additional Notes:

e Typically, statements credited as evidence will be more specific than statements credited as contextualization.

e To earn this point, the evidence provided must be different from the evidence used to earn the point for contextualization.

e To earn this point, the evidence provided must be more than a phrase or reference.
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Reportin - .‘
CaFt’egorf Scoring Criteria
fow > Sourcing
Analysis and - :
Reasoning 0 points 1 point
Does not meet the criteria for one point. For at least three documents, explains how or why the document’s point of view, purpose, historical situation,
(0-2 points) and/or audience is relevant to an argument.

Decision Rules and Scoring Notes

Responses that do not earn this point:

e Explain sourcing for less than three of the
documents.

e |dentify the point of view, purpose,
historical situation, and/or audience but
fail to explain how or why it is relevant to
an argument.

e Summarize the content or argument of
the document without explaining the
relevance of this to the point of view,
purpose, historical situation, and/or
audience.

Examples that do not earn this point:

Identify the point of view, purpose, historical
situation, and/or audience, but do not
explain how or why it is relevant to an
argument

e “The ceremony recorded by Pulley in
Document 6 occurred at a time when
Britain had effectively taken control of all
of India.”

Summarize the content of the document
without explaining the relevance of this to
the point of view, purpose, historical
situation, and/or audience

e “The purpose of Queen Victoria’s

declaration is to grant religious freedom
to all Indians.”

Responses that earn this point:

e  Must explain how or why—rather than simply identifying—the document’s point of view, purpose, historical
situation, or audience is relevant to an argument that addresses the prompt for each of the three documents
sourced.

Example of acceptable explanation of the significance of the author’s point of view:

e (Document 3): “As an economist, Clark is primarily interested in maximizing the efficiency of the empire and
describes the changes to Indians’ way of life as a fair application of free-market principles.” (Connects the point
of view of the document to an argument about the influence of liberalism on British rule in India)

Example of acceptable explanation of the relevance of the historical situation of a source:

e (Document 5): “The rebellion of 1857-1858 was in part a religious uprising against British rule in India, so it is
not surprising that Victoria is supporting the liberal idea of religious freedom in this document.” (Connects
information about the historical situation of the quote with an argument about the influence of liberalism on
British rule in India)

Example of acceptable explanation of the significance of the audience:

e (Document 4): “Ghose’s pamphlet would likely have been read by British critics of rule in India, suggesting that
he might be trying to appeal to British policymakers who wanted India to be ruled in a more liberal way.”
(Provides information about the audience of the source relevant to an argument about the influence of
liberalism on British rule in India)

Example of acceptable explanation of the significance of the author’s purpose:

e (Document 6) “This was drawn by an Englishman. It promotes the idea of a British savior and was likely used to
glorify their imperialism.” (Identifies the artist’s purpose to promote Queen Victoria’'s imperial rule)
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Row D
(continued)

Complexity

0 points
Does not meet the criteria for one point.

1 point
Demonstrates a complex understanding of the historical development that is the focus of the prompt, using
evidence to corroborate, qualify, or modify an argument that addresses the question.

Decision Rules and Scoring Notes

Responses that earn this point:
May demonstrate a complex understanding in a variety of ways, such as:

Explaining nuance of an issue by analyzing multiple variables.

Explaining both similarity and difference, or explaining both continuity and change, or explaining multiple
causes, or explaining both causes and effects.

Explaining relevant and insightful connections within and across periods.
Confirming the validity of an argument by corroborating multiple perspectives across themes.
Qualifying or modifying an argument by considering diverse or alternative views or evidence.

Demonstrating complex understanding might include any of the following, if appropriate elaboration is
provided:

Analyzing multiple variables, such as exploring the differences between the theoretical application of liberal
ideas in India and the practical realities of maintaining order in an empire, or profiting from India’s wealth.
(Explains nuance)

Explaining how liberalism as a political ideology was largely critical of British Imperialism in India, while at the
same time recognizing how liberalism encouraged British imperialism in India economically, particularly
through laissez-faire. The explanation should include some analysis of the relative strengths of each argument.

(Demonstrates nuance by analyzing multiple aspects of liberalism and their effects on British India)
Analyzing multiple variables by constructing an argument that explores the potential conflict between liberal
ideas about political equality and racialist ideas about the supposed inferiority of non-European races and
attempts to reconcile them through the idea of “educating” or “reforming” native Indians. (Explains nuance)

Explaining insightful connections across periods by constructing an argument that explains how resistance to
British rule, especially in the twentieth century, challenged the idea that Britain’s rule could be considered
liberal. (Explains relevant and insightful connections)

Corroborating multiple perspectives, such as exploring how complaints about the actual workings of the British
courts, indicate not only the failure of British rule to live up to liberal principles, but also the existence of liberal
institutions such as a free press that could challenge the government. (Corroborates, qualifies or modifies an
argument by considering diverse or alternative views or evidence)

Additional Notes:

e This demonstration of complex understanding must be part of the argument, not merely a phrase or reference.
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Document Summaries

Document

Summary of Content

1. Judge Russell on
murder and arson
case

e Russell declares that poor people
and native Indians should receive
equal protection of British law and
says that this will ensure Indians’
allegiance to Britain.

Legal decisions such as Russell’s need to explain the principles that they are based on, so he
is laying out broad ideas.

Russell’s reference to protection of property and lives follows liberal and Enlightenment

principals established by John Locke, while the closing reference to the allegiance of the
governed similarly follows the liberal principal of the social contract.

2. Cobbett o  Cobbett criticizes British rule in India Cobbett is writing when the East India Company was acting as an autonomous governing
for its violence and greed. body in India.
Cobbett is writing when the main aim of European overseas colonization was to gain access
to luxury products to import to Europe.
3. Clark on e  Clark claims that improved Clark is writing just as railroads are expanding in Britain and leading to economic growth.
railways communications will allow British Clark is influenced by liberal arguments that free trade is the best and fairest way to improve

factories to get more raw materials
out of India; he also claims that this
would benefit India by increasing
agriculture and giving Indians access
to cheaper manufactured goods
from Britain.

peoples’ standards of living.

4. Ghose pamphlet

e  Ghose criticizes the British legal
system in India, claiming it is biased
against Indians who often can’t
access the courts, understand the
language of the proceedings, or
follow the legal arguments.

Ghose, as a member of a reform group, is trying to state his case as strongly as possible,
using the most emotional examples.

Ghose, as a reformer, is interested in articulating a critique of British government and legal
institutions in India in an effort to establish, for his readers, the importance of political and
social change.

5. Victoria
proclamation

e  Victoria declares freedom of religion
in her domains in India and declares
that official positions are open to all
regardless of race or religion.

Victoria issued the proclamation after a major rebellion (the Sepoy Rebellion or Indian
Mutiny) that was caused in part by religious concerns, so she is attempting to pacify India.

The end of rule by the profit-seeking East India Company is an occasion for Victoria to create
a new basis for British government in India.
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6. lllustration of
the Nizam
presenting a gift to
the British
governor of India

As part of the establishment of
Victoria as Empress of India, a native
ruler kneels before the British
governor and the image of Victoria
and presents a gift.

The drawing, by a British officer, is intended to convey a harmonious picture of British rule,
with native rulers, native troops and British leaders all playing their appointed roles.

The image appeals to the British audience’s feelings of national or racial pride and superiority
by showing the power of British rule over India.

7. Indian
journalists’
editorial

The journalists argue that the
application of laws in India
discriminates against Indian victims
and works in favor of British
lawbreakers.

The journalists’ education in England probably sharpened their perception of the differences
between the legal systems in England and in India.

The journalists are reacting to the failure to realize in practice pronouncements of equality
like Victoria’s.
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AP® European History 2021 Scoring Commentary

Question 1 — Document-Based Question
Note: Student samples are quoted verbatim and may contain spelling and grammatical errors.
Overview

The Document-Based Question (DBQ) prompt asked students to evaluate whether or not British imperial rule in
India during the 1800s was primarily influenced by liberalism. Students were expected to develop and support an
argument, using the documents provided, that demonstrated the effect that liberalism had on imperialism in
India.

Units 6 and 7 in the Course and Exam Description cover liberalism in the 1800s in Europe and European
imperialism and its motives, technologies, and global effects with two illustrative examples given of the effects
of imperialism in India.

Sample: 1A
Score: 7

Thesis/Claim: 1
Contextualization: 1
Evidence: 3

Analysis and Reasoning: 2

A. Thesis/Claim (0-1 points): 1 point

The response earned 1 point for thesis by establishing in the conclusion a historically defensible claim that
British Imperial rule was primarily influenced by liberalism through the idea of the civilizing mission. The
introduction has a similar claim concerning liberalism and the White Man’s Burden.

B. Contextualization (0-1 points): 1 point

The response earned 1 point for contextualization with the discussion in the introduction of a first period of
colonization until 1776, and the economic gains from it, and then the continued will of countries such as
Britain to expand afterward into the 1800s.

C. Evidence (0-3 points): 3 points

Evidence from the Documents

The response earned 2 points for using evidence from the documents by using six of the documents in support
of an argument. Documents 3 and 4 are used in an argument about the effects of industrialism in India, while
documents 2, 1, 6, and 7 are used in an argument about the effects of Social Darwinist ideas on India.
Document 5 is not used.

Evidence Beyond the Documents

The response earned 1 point for using evidence beyond the documents in the discussion of natural selection,
and Darwin’s ideas of the strong threatening the weak applied to Britain in India, developing into Social
Darwinism with the idea that Indians needed British protection.

© 2021 College Board.
Visit College Board on the web: collegeboard.org.



AP® European History 2021 Scoring Commentary

Question 1 — Document-Based Question (continued)

D. Analysis and Reasoning (0-2 points): 2 points

Document Sourcing

The response earned 1 point for sourcing three documents. Documents 3 and 7 use the historical situation of
the documents—the Industrial Revolution and machinery in Britain for Document 3 and Social Darwinism for
Document 7. The discussion of Document 6 shows that the purpose of the illustration is to reflect the
compliance of the subject peoples. For Document 4 the response attempts to source the speaker’s point of view
but fails as it does not explain why the author’s position as a reformer is relevant.

Demonstrating Complex Understanding

The response earned 1 point for demonstrating a complex understanding in the last body paragraph where a
different theme, economics, modifies the argument and is explained as an influence on British India. A Marxist
criticism of capitalism as exploitation is developed as the response discusses exploitation within Britain
leading to the economic exploitation of India and imperialism.

Sample: 1B
Score: 5

Thesis/Claim: 1
Contextualization: 0
Evidence: 3

Analysis and Reasoning: 1

A. Thesis/Claim (0-1 points): 1 point

The response earned 1 point for thesis by establishing, in the conclusion, both a historical claim, that there
was an impulse to liberalism, and a line of reasoning, that this impulse was overshadowed by imperialism.

B. Contextualization (0-1 points): 0 points

The response did not earn a point for contextualization as it does not attempt to meaningfully describe a
broader historical context relevant to the prompt.

C. Evidence: (0-3 points): 3 points

Evidence from the Documents
The response earned 2 points for evidence by using Documents 2, 4, 3, 1, 5, and 6 to support an argument.

Evidence Beyond the Documents
The response earned 1 point for evidence beyond the documents for the discussion of the scramble to colonize
Africa and Asia in the 19th century.

D. Analysis and Reasoning (0-2 points): 1 point
Document Sourcing

The response earned 1 point for sourcing by discussing the point of view of Document 6 (London newspaper)
and the historical situation of Documents 3 (imperialism) and 5 (the Rebellion of 1857).
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AP® European History 2021 Scoring Commentary

Question 1 — Document-Based Question (continued)

Demonstrating Complex Understanding
The response did not earn points for complexity, as while it offers a coherent argument, there is no attempt at
nuance, corroboration, qualification, or insights across periods and geographical space.

Sample: 1C
Score: 3

Thesis/Claim: 0
Contextualization: 1
Evidence: 2

Analysis and Reasoning: 0

A. Thesis/Claim (0-1 points): 0 Points

The response did not earn a point for thesis as there is no line of reasoning to support the claim that British
rule in India was influenced by liberalism and monarchies.

B. Contextualization (0-1 points): 1 Point

The response earned 1 point for contextualization with the discussion of how Social Darwinism affected
European empires.

C. Evidence (0-3 points): 2 Points

Evidence from the Documents

The response earned 1 point for using evidence from the documents by using five documents to address the
prompt. Documents 6 and 7 are not used in support of an argument, therefore the response did not earn the
point for using evidence from six documents in support of an argument.

Evidence Beyond the Documents
The response earned 1 point for using evidence beyond the documents with its comparison of mistreatment of
Indians in the last paragraph to natives in the Belgian Congo under King Leopold.

D. Analysis and Reasoning (0-2 points): 0 Points

Document Sourcing
The response did not earn a point for sourcing as there are no attempts to source documents beyond some
brief references that are not connected to an argument addressing the prompt.

Demonstrating Complex Understanding

The response did not earn a point for complexity. Although the response does make a comparison between
British imperialism in India and Belgian imperialism in the Congo, this brief mention was credited as outside
evidence rather than a demonstration of complex understanding.

© 2021 College Board.
Visit College Board on the web: collegeboard.org.


http://collegeboard.org

	AP® European History Sample Student Responses and Scoring Commentary 
	Question 1: Document-Based Question, British Imperialism in India 
	General Scoring Notes 

	Document Summaries 
	Question 1 — Document-Based Question 
	Overview 
	Sample: 1A 
	Sample: 1B 
	Sample: 1C 






Accessibility Report





		Filename: 

		ap21-apc-european-history-dbq.pdf









		Report created by: 

		



		Organization: 

		







[Enter personal and organization information through the Preferences > Identity dialog.]



Summary



The checker found no problems in this document.





		Needs manual check: 2



		Passed manually: 0



		Failed manually: 0



		Skipped: 0



		Passed: 30



		Failed: 0







Detailed Report





		Document





		Rule Name		Status		Description



		Accessibility permission flag		Passed		Accessibility permission flag must be set



		Image-only PDF		Passed		Document is not image-only PDF



		Tagged PDF		Passed		Document is tagged PDF



		Logical Reading Order		Needs manual check		Document structure provides a logical reading order



		Primary language		Passed		Text language is specified



		Title		Passed		Document title is showing in title bar



		Bookmarks		Passed		Bookmarks are present in large documents



		Color contrast		Needs manual check		Document has appropriate color contrast



		Page Content





		Rule Name		Status		Description



		Tagged content		Passed		All page content is tagged



		Tagged annotations		Passed		All annotations are tagged



		Tab order		Passed		Tab order is consistent with structure order



		Character encoding		Passed		Reliable character encoding is provided



		Tagged multimedia		Passed		All multimedia objects are tagged



		Screen flicker		Passed		Page will not cause screen flicker



		Scripts		Passed		No inaccessible scripts



		Timed responses		Passed		Page does not require timed responses



		Navigation links		Passed		Navigation links are not repetitive



		Forms





		Rule Name		Status		Description



		Tagged form fields		Passed		All form fields are tagged



		Field descriptions		Passed		All form fields have description



		Alternate Text





		Rule Name		Status		Description



		Figures alternate text		Passed		Figures require alternate text



		Nested alternate text		Passed		Alternate text that will never be read



		Associated with content		Passed		Alternate text must be associated with some content



		Hides annotation		Passed		Alternate text should not hide annotation



		Other elements alternate text		Passed		Other elements that require alternate text



		Tables





		Rule Name		Status		Description



		Rows		Passed		TR must be a child of Table, THead, TBody, or TFoot



		TH and TD		Passed		TH and TD must be children of TR



		Headers		Passed		Tables should have headers



		Regularity		Passed		Tables must contain the same number of columns in each row and rows in each column



		Summary		Passed		Tables must have a summary



		Lists





		Rule Name		Status		Description



		List items		Passed		LI must be a child of L



		Lbl and LBody		Passed		Lbl and LBody must be children of LI



		Headings





		Rule Name		Status		Description



		Appropriate nesting		Passed		Appropriate nesting










Back to Top



